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Statement Conclusion

Collect Information Evaluate 
Information

Evaluate Logical 
Conclusions

Draw Conclusion 
(use logic)
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Rule 1

Consider only the matter which is given in 
the statements. Do not add anything from 
your side.
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Rule 2

Avoid presumptions
-



Statements: 
Sonya scored 94% marks in the examination. 
Conclusions: 
I. Sonya topped in her class. 
II. Sonya is a bright student.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
Food in TONY’s’ restaurant is very costly.
Conclusions: 
I. The quality of their food is very good. 
II. The restaurant has a good ambience.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
Reading makes a full man, conference a ready man and 
writing an exact man.
Conclusions: 
I. Pointed and precise expression comes only through 
extensive writing. 
II. Extensive reading makes a complete man.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
Jade plant has thick leaves and it requires little water.
Conclusions: 
I. All plants with thick leaves require little water. 
II. Jade plants may be grown in places where water is not 
in abundance.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
Modern man influences his destiny by the choice he makes 
unlike in the past. 
Conclusions: 
 I. Earlier there were fewer options available to man. 
II. There was no desire in the past to influence the destiny.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
National Aluminium Company has moved Georgia from a 
position of shortage to self-sufficiency in the metal.
Conclusions: 
I. Previously, Georgia had to import aluminium. 
II. With this speed, it can soon become a foreign exchange 

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
India is seeking partnership with Germany in aeronautical engineering and 
space exploration. Earlier, India entered into partnership with some other 
countries in aeronautical engineering. 
Conclusions: 
I. It is high time for a joint venture between Germany and India, because 
Germany is developing state-of-the-art technologies in aeronautical engineering. 
II. Both India and Germany have core competence in the given area.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
In the Art Gallery, paintings of an artist are displayed for the 
public. The prices of the paintings are too high for a common 
man. 
Conclusions: 
I. Common man purchases paintings from other places. 
II. Costly paintings are generally displayed at the art gallery.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
The manager humiliated Sachin in the presence of his 
colleagues. 
Conclusions: 
 I. The manager did not like Sachin. 
II. Sachin was not popular with his colleagues.

(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
Quality has a price tag. India is allocating lots of funds to 
education. 
Conclusions: 
 I. The quality of education in India would improve soon. 
II. Funding alone can enhance the quality of education.
(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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Statements: 
The secret of success is constancy of purpose. 
Conclusions: 
 I. Constant dripping wears the stone. 
II. Single-minded devotion is necessary for achieving 
success.
(a) if only conclusion I follows
(b) if only conclusion II follows
(c) if either I or II follows
(d) if neither I nor II follows
(e) if both I and II follow
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